ELLESMERE & LUDLOW GAS BALANCED FLUE PARTS LIST

ELLESMERE & LUDLOW
BALANCED FLUE GAS RANGE

WIDE MODELS

Issued Nov 2023

WIDE MODEL ELLESMERE & LUDLOW GAS BALANCED FLUE - EXPLODED VIEW




ELLESMERE & LUDLOW GAS BALANCED FLUE PARTS LIST

REF. | QTY PER PART PART DESCRIPTION ELLESMERE LUDLOW
NO. | STOVE NUMBER ONLY ONLY
1 1 ECGW/ELL/001 Main Body ECGW - NOT FOR SALE Same Same
2 0 N/A N/A N/A N/A
3A 1 ELL-13887 WIDE DOOR AGA Ellesmere stove Cast Door EC5W YES
3B 1 LUD 1388 WIDE DOOR AGA Ludlow stove Cast Door EC5W YES
4 1 ECGW/ELL/003 Inner Glass Frame ECGW Same Same
5 0 N/A N/A N/A N/A
6 1 ECGW/ELL/005 Baffle Cover Plate ECGW Same Same
7 1 ECGW/ELL/006 Inner Glass ECGW Same Same
8 0 N/A N/A N/A N/A
9A 1 ECGW/ELL/007 AGA Ellesmere Stove Lid Steel ECGW YES
9B 1 LUD W5-09 AGA Ludlow Stove Lid Cast ECGW YES
11 1 ECGW/ELL/008 Back Panel Same Same
12 1 ECGW/ELL/009 Front Ash Lip Same Same
13 0 ECGW/ELL/010 N/A N/A N/A
14A 1 W5F11-GLASS AGA Ellesmere Outer Door Glass YES
14B 1 WA5F11-GLASS AGA Ludlow Outer Door Glass YES
15 1 ECGW/ELL/012 EC GW Inner Frame Same Same
16 1 ECGW/ELL/013 100mm Blanking Plate Same Same
17 1 ECGW/ELL/014 100mm Spigot Weldment Same Same
18 1 ECGW/ELL/015 150mm Blanking Plate Same Same
19 1 ECGW/ELL/016 150mm Spigot Same Same
20 1 A455W8 ROLLER Door Handle Roller Same Same
21 1 HANDLE ASSY Handle Assembly Complete Same Same
22 2 6X50 PIN M6 X 50mm Hinge Pin Same Same
23 1 ECG/ELL/020 M8 x 30mm Dome socket screw Same Same
24 1 ECG/ELL/021 Delayed Ignition Flap Folding Same Same
25 1 ECG/ELL/022 Delayed Ignition Flap Gasket Same Same
26 2 ECG/ELL/023 M6 X 25mm 8mm Shoulder Bolt Same Same
27 4 BB GLASS CLIP Glass Clip Same Same
28 0 N/A N/A N/A N/A
29 1 ECGW/ELL/025 EC GW CE Plate Same Same

ABGO Heating Spares — AGA Ellesmere & Ludlow Balanced Flue Gas Stove Range — Parts List Nov 2023
Ordering Email for Spares — webenquiries@abgo.co.uk




ELLESMERE & LUDLOW GAS BALANCED FLUE PARTS LIST

ELLESMERE & LUDLOW WIDE MODEL — BALANCED FLUE GAS STOVE - INDEX TABLE

Qry
REF. PART ELLESMERE | LUDLOW
PER PART DESCRIPTION
NO. | orove NUMBER SCRIPTIO ONLY ONLY
30 0 N/A N/A N/A N/A
31 0 N/A N/A N/A N/A
32 0 N/A N/A N/A N/A
33 1 ECGW/ELL/026 M6 X 20mm Countersunk socket Same Same
screw
34 1 ECGW/ELL/027 M6 X 30mm Countersunk socket Same Same
screw
35 4 ECGW/ELL/028 M5 X 20mm Cap socket screw Same Same
36 9 ECGW/ELL/029 M5 X 12mm Cap socket screw Same Same
37 25 ECGW/ELL/030 M5 Spring washer Same Same
38 16 | ECGW/ELL/031 M5 Nut Same Same
39 2 ECGW/ELL/032 100mm Flue Seal Same Same
40 2 ECGW/ELL/033 150mm Flue Seal Same Same
41 8 ECGW/ELL/034 M5 X 15mm Cap socket screw Same Same
42 2 ECGW/ELL/035 3.2 x 6mm Steel Rivet Same Same
43 4 ECGW/ELL/036 M6 X 20mm Hex set screw/Levelling Same Same
Bolt
44 4 ECGW/ELL/037 M5 X 8mm Cap socket screw Same Same
45 4 ECGW/ELL/038 M5 X 12mm Cap socket screw Same Same
46 1 ECGW/ELL/039 ECGW Glass Gasket Same Same
47 2 ECGW/ELL/040 EC GW Glass Gasket Same Same
ECGW/ELL/041 Single Ellesmere & Ludlow Wide
1
= (NG or LPG) Burner Complete (NG or LPG) Same same
49 1 ECGW/ELL/042 EC GW SINGLE Grate A part Same Same
50 1 ECGW/ELL/043 EC GW SINGLE Grate B part Same Same
51 1 ECGW/ELL/044 Pilot Shield Lower Same Same
52 1 ECGW/ELL/045 Pilot Shield Upper Same Same
£3 1 ECGW/ELL/046 AGA Ellesmere Top Flue Blanking YES
Plate
54 1 ECGW/ELL/047 AGA Ludlow Top Flue Blanking Plate YES
ECE - 250ML TIN OF BLACK LUDLOW
N/A ECE-250-BL PAINT
N/A / PAINT Same Same
ECE - 500ML TIN OF BLACK LUDLOW
ECE- -BL-
N/A N/A CE-500 PAINT PAINT Same Same
N/A 1 A5W DRSEAL EC5W - DOOR ROPE SEAL Same Same

ABGO Heating Spares — AGA Ellesmere & Ludlow Balanced Flue Gas Stove Range — Parts List Nov 2023
Ordering Email for Spares — webenquiries@abgo.co.uk




ELLESMERE & LUDLOW GAS BALANCED FLUE PARTS LIST

ELLESMERE & LUDLOW WIDE MODEL — BALANCED FLUE GAS STOVE

GAS BURNER & GAS VALVE CONTROLLER - SPARE PARTS

QTY
REF. PART
PER PART DESCRIPTION ELLESMERE | LUDLOW
NO. STOVE NUMBER eC 2 ONLY ONLY
BW 1 i -
6 1 | ECGW 9001 Ceramic Log Pack —11 Same Same
pieces
GBW 2
1 ECGW 9002 Ember Pack Same Same
GBW 3
1 ECGW 9003 TESC Remote Handset Same Same
GBW 4
1 ECGW 9004/NG Gas Valve Controller — NG Same Same
GBW 5 1 ECGW 9004/LPG Gas Valve Controller — LPG Same Same
Complete Burner
GBW 6 1 ECGW/ELL/041/NG Assembly NG Wide Model Same Same
Complete Burner
GBW 7 1 ECGW/ELL/041/LPG Assembly LPG Wide Model Same Same
GBW 8 i
1 | ECGW 9006 AGA Approved Mains Same Same
Adapter
GBW 9 .
1 ECGW 9007/NG Pilot Assembly NG Same Same
GBW 10 ECGW 9007/LPG Pilot Assembly LPG Same Same
GBW 11 ECGW 9008/NG Pilot Injector NG Same Same
GBW 12 ECGW 9008/LPG Pilot Injector LPG Same Same
GBW 13 1 | ECGW 9009 Pilot Ceramic Ignitor & Same Same
Cable
GBW 14 1 ECGW 9010 Pilot Thermocouple Same Same
GBW 15 1 ECGW 9011 Main Burner Injector NG Same Same
GBW 16 1 ECGW 9012 Main Burner Injector LPG Same Same
GBW 17 1 ECGW 9013 Elbow Test Point Same Same
GBW 18 1 | ECGW 9014 ?:; Inlet Test Point and Same Same
N/A . .
N/A ECG/ELL/RES/35 Flue Restrictor 35mm wide Same Same
N/A . .
N/A ECG/ELL/RES/45 Flue Restrictor 45mm wide Same Same

ABGO Heating Spares — AGA Ellesmere & Ludlow Balanced Flue Gas Stove Range — Parts List Nov 2023
Ordering Email for Spares — webenquiries@abgo.co.uk




